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1. Gtelst R Ted efadae el ?

() frafie (ii)y TES (i) TG

gafdt I

1) () ®H (2) (i) 3o (i) W

() (i) a7for (i) R @) for

Which of the following plays were written by Harshavardhan ?

(i) Priyadarsika (ii) Ratanavali (i) Nagananda
Answer options :

(1) (i) only (2) (i) and (ii) only

(3) (ii)and (iii) only (4) Al the three

2. HON HHIA R wrew fawgiar’ o ' daman’ Had Hivi RS Ay 2
(1) uwsi gw (2) T IR I4E (3) g (4) To9a1 dg

Who has rejected the ‘Safety Valve Theory’ about the foundation of the Congress calling it
the ‘myth’” ?

(1) A.O. Hume (2) A.R. Desat (3) Tarachand {4) Bipan Chandra

3. @' fam-se-aew 1 fhae 2vam e Sl el e TEEAR WU AR S B, &
e ?

(1) o7 faafea @@ (2) Tt get @m
(3) W”d @A (4) TEA IS A

He was given the title of Nizam-ul-Mulk. He was made the Governor of the Deccan. He
founded the Asaf Jahi dynasty. His successors are called the Nizams of Hyderabad. Identify

him :
{1)  Chin Quilich Khan (2) Murshid Quli Khan
(3) Saadat Khan (4) Husain Ali Khan

HoAl BTG S0 /SPACE FOR ROUGH WORK
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4. TS YIEATE H3q: FTE IUNGN BIcAT S4THeS TIH1 AU HIAl. YEIoud! kvl widie U Tegd! ?

(1}
(2)
(3)
(4)

AT TAH T G50 AT St He4al o Meae 9 1 2w A0S g1 e,
i BEASed] F GAHTHRY AHET o Jee fHasivd: aw=<aan 3 i
FABUHT Tehet =L,

The Maratha power suffered from certain basic weaknesses which led to its downfall. Which
of the following was not ope among them ?

1)

The nature of their political system the Marathas alienated the sympathies of other
people.

Their raids into the territories of other rulers made new enemies.

The levies charged by them added to the oppression of the common people, particularly
peasants and traders.

None of the above

5. SO 919G [EIGahT BV faE sE e ?

(a) M T FioE g A

(b) o gH ST Yiaed] TS Bl

(c) T AHETET TN 49 gU Hieg ufieg st el e,
(d) A fomel e Ty 7 f9oH %o,

'Q'ﬂ'hﬁ' 3?1:1' H

(1) (@), (b} 3 (d) (2) (), (c) 3 (d)
(3) (@), (b} 3 (¢) @) (), (0 (@)
Which of the following statements are true about Ajatashatru ?
(a} His name was also Kunika.

{b) He was the last ruler of the Haryanka dynasty.

(c)  The first Budhist council was held at Rajgruh during his regime.

(d)

He integrated Lichhavi kingdom into Magadh.

Answer options :

(1)

@ b)and (&) () (@) (@ and (d) () (a), (B)and (@ (4) (b) (c)and (d)
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6. T fudem fade =mor S @i FeFAER Fievh . AR IHuqH A gat e,

(i) FohR (i) § (it) wH&™® (iv) =
ot S

(M (i), (), (i), (iv) (2} Gw), (), (i), (i)

(3) (i), (i), (v}, (i) (&) (i), (i), (@), (iv)

Arrange the following British trading centres in their chronological order. Choose the
correct answer option.

(i) Calcutta (iiy Surat (iii) Madras (iv) Bombay
Answer options :
(1y (), (i1, (i), (iv) (2)y (i), (@), (iii), (ii)

(3) (), (i), (iv), () (4) (i), (i), (i), (iv)

7. WESTE Hvh wifdeis faane Tifds 9 99eEE) B ?

(1) TS Tt (2) ToTmas STHIER HeRER
(3) Ifde =N (4) wrd e

Who, among the following revolutionaries, was an atheist and a socialist in approach ?
(1) Damodar Chaphekar (2) Vinayak Damodar Savarkar

(3) Arabindo Ghosh (4) Bhagat Singh
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8. o Aeiie Sy AfATHETIG TGS FI YR g T 2
(1) o "= AT IS afeS sifudeE aa.
(2) o rfgQeer HI 40,000 Sl Iuftya 8.
(3) T SATHSRMTA IS YA A1 SEd S | sl i Heard! i U wed.
(4) YHWE A § 1 ATHETHAN A=A B
Which one of the following statements about the Faizpur Session of Congress is not true ?
(1) It was the first Session of Congress held in the rural area.
(2) It was attended by about 40,000 peasants.
(3) Dhanajinana Choudhari and Sane Guruji played an important role in organizing
this session.
(4) Shankarrao Deo presided over this session.
9, ARYFSH TFERIAT 20 =1 Yaehdio WAAGadardie] Y6y 9l 9/ ¢

(1)  Irsiferici=ar ASTHROMGR (2) EARCHE FIEIgR
(3) SNRISHS AFTER (4) THRqaTera sfds wHtagR

The early nationalists provided the firm foundation to the 20th century freedom movement
through :

(1) Politics of petitions (2)  Constitutional means

(3) Agitational way (4) Economic critique of colonialism

AT SHIHTETE! W /SPACE FOR ROUGH WORK
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10. @O (A) 300 (B) faum ey v Twde A @ fee.
(A} YIRdIE GHRSIEET Wi FAiHE fasmearen oo Seliy ).
(B) e S & SHaHE A MYos IgISe fewal.
it 39
(1) (A) @0ty (B) <4t faum weg 31 (B) ® (A) = dFg SRwfHwiE 1.
(2) (A) o (B) [t faurt @@ Aed, W (B) 7 (A) 3t 97q wRUfHEEr 47 A&
(3) (A) T 3T, WYY (B) IF AT
(@) (A)TF IME, WY (B) T I,
Read statements (A) and (B) and choose appropriate option from the answer options :
(A) Megasthenes mentions seven castes into which the Indian society was divided.

(B) Megasthenes confused castes with professions.

Answer options :

(1) Both {A) and (B) are true, and (B) is the correct explanation of (A).
(2} Both (A) and (B) are true, but (B) is not the correct explanation of (A),
(3) (A) is true, but (B) is false.

(4) (A) is false, but (B} is true.

HoeAl BTG ST /SPACE FOR ROUGH WORK
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11, < o, (390 9 991y A9t

ot . | et . 1t
(a) TfCwmE! ([ et
(b) eI (i) Te=mvel
(c) wHICE (i) o=
(d) el (iv) STEHETR
(e) SUTE! (v) W
Y -

@ (b) (g (d) (e
(1) @) (v @ Gv) @
2 v ) @ ) (i)
(B} (i (v} (v) @) @
4 v (v) ) @) ()

Match the pairs. (Choose the correct answer option).

LS

List-1 List-11
{a)  Adil shahi (i)  Bidar
(b) Nizam shahi (i) Golconda
(¢) Imad shahi (iix) Vijapur
(d) Qutub Shahi (iv) Ahemadnagar
(e) Barid Shahi (v} Berar

Answer options :

@@ () (o (d) (e

1) G (v) G) @) @
@ @ v O @ ()
(3 G (v) (v () (@)
@) (v) () @) () ()

oA WIWMES! A /SPACE FOR ROUGH WORK




A 9 GO3

12. SO Foe FeMe Faieps Toqa U1 Bid Fat=] §a5 a0 od 57! =& S § 5 TN
froto %0, @M o= femnl ST AR 919, IEe fohdl Tl @M, S oo we T 7
(a) ARH by “(c)‘ R (d) SR () IORERE
a3

1 (2) <A (3) i (4) =R

The most outstanding Rajput ruler in the post Aurangzeb period was Sawai Raja Jai Singh
of Amber. He built the beautiful city of Jaipur. He also erected astronomical observatories
at five places. At how many of the following places he did not erect these ?

{a) Banaras (b) Ujjain (¢} Mathura (d) Udaipur (e) Allahabad
Answer options :

(1) One (2) Two (3)  Three (4) Four

13.  IOUEN TSTHRVTHS sRqael 419 faiy Troets S shel ?

(i) @ (ii) Wmsﬁ? st

(it) R foA-ToIow (iv) TwieTemg qoos

wardt I

(1) (1) @i (i) (2) (i) S (i)

(3)  (iii) M (iv) (4)  (iv) anfor (i)

Who among the following strongly opposed the interference of the Ulemas in the affairs of
the state ?

(i) Balban (i) Alauddin Khilji

(i) Muhammad-bin-Tughlaq (iv) Firoze Shah Tughlaqg

Answer options :
(1) (i) and (ii) (2) (ii} and (iii)
(3) (iii) and (iv}) (4} {iv} and (i)

FHeed] HIEERS S /SPACE FOR ROUGH WORK
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14, 9o 1947 T IS HEAMIGT YRGS SN faedie oA faiy B o (Eie dem d
(a) ST (b) FETHR (c) faFmR (d)y o9
(1) @ w @ @ @) ®)© (4) (O
The princely states that were unwilling to join the Indian Union until July 1947 included :
(a) Baroda (b) Travancore (c) Bikaner (d) Bhopal
(1) Alltheabove (2) (a), () 3)  (b). () @) (b), (d)

15. & FIIER HAM R, THEA, JFR, TEAR, Wewer 9 e ¥ U2 Jeg T 0 JidTd.
STEE= JegHaR Soeal G Far S ey e e U YaYS 9. TR 3
T TS FISTFTHTA 69 7
{a) EHT & (by SEIGT ¥
() SRR (d) HEmE el
Tt I
(1) 3EFT 5], 9RIgY VIEl, STeial VI8l HeHE Tt
(2) SIEIGY Y&, STElEY Igl, FgHHE YIgl, STEHE I8l
(3) BIGY VIE], HEFE 1§, STEIgY YR, SEHE ¥IEl
(4) TR €I, HEHHT 78T, TEGY 9El, TS ¥R
The Great Mughals included Babar, Humayun, Akbar, Jahangir, Shahjahan and Aurangzeb
in that chronological order. The Mughal emperors who came to the throne after the death of
Aurangzeb are called the Later Mughals. Arrange the following four Later Mughals in their
chronoiogical order.

(a) Ahmad Shah (b) Bahadur Shah

{c) Jahandar Shah (d) Mohammad Shah
Answer options :

(1} Ahmad Shah, Bahadur Shah, Jahandar Shah, Mohammad Shah
(2) Bahadur Shah, Jahandar Shah, Mohammad Shah, Ahmad Shah
(3) Bahadur Shah, Mohammad Shah, [ahandar Shah, Ahmad Shah
(4) Jahandar Shah, Mohammad Shah, Bahadur Shah, Ahmad Shah

16. e SRt yevM A % @ik WA UAe Aed.

(1) 13 (2) 23 3y 33 (4) 43
The Ganga 1’lains accomedate . percent of population of India.
(1) 13 (2) 23 (3) 33 (4) 43

el SIS 9 /SPACE FOR ROUGH WORK
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17. Yeio g9 faumi=n faar &
(A) T AR 10° T 20° FEAC A@ae AR
(B)  10°T 20° STV TeHTIST aTsd= woyor AfHeh e
it I
(1) ST (A) 9 (B) @ 3189 F (B) ® (A) F RO 378
(2) T (A) F (B) @ TR T (B) ¥ (A) = HROT ARH
(3) HIB (A) B AR
(4) %9 (B) WY TR
Consider the following two statements :
(A) There are deserts between 10° and 20° latitudes in both the hemispheres
(B) Between 10° and 20° latitudes evaporation exceeds precipitation
Answer options :
(1} Both (A) and (B} are true and (B) is the reason for (A)
(2) Both (A} and (B) are true but (B) is not the reason for (A)
(3) Only (A)is true
(4) Only (B)is true
18. TEI® HIM faum Septe a8 ?

(a) =Y AU = T 9o &N fHeacel F-T7Te SHeaTel feed ST Fee@re
LERCLRIE]

(b) HEIHET : AUSHiA SH HeHer U 39 BEoH HL,

(c) 9o WY@ TS o2 Fd® S A9edl sl TR,

it I

(1) W (a) 2) (®F () (3} HH (c) (4) TR TR

Which of the following statements is incorrect ?

(a} Chauth: Tax realised by Marathas from the areas outside their domain-equal to one
fourth of the revenue paid to the Mughal Empire.

(b}  Sardeshmukhi : Tax realised by the Marathas equal to one tenth of the land revenue.
(c)  Misl : Political unit among the Rajputs, each loyal to its own particular leader.

Answer options :
(1) Only (a) (2) (b) and (c) (3) Only (0 (4) None

Tl HWATEE! SR /SPACE FOR ROUGH WORK

P.T.O.



GO3

19. e o

(3)
(4)

Match the following :

(@)
(b)
(©)
(d)

(1)
(2)
(3)
)

WY A
TAEA JHR
Hiefea vFR
TAHMAT RN
TSI FHR
@ (b) (o)
(iv) (i) (i)
(i) (iv) (i)
@ @ @)
@ @ ()

Column A

Hawaiian Type
Strombolian

Vulcanian

Peleean Type
(@ (b ()
v) i) (i)
i) (v) G
0 G @)
@ 6 i)

(i)
(iv)

(i)

(ii)
(i)
(iv)

12

W B

TS T IR
Ay gaiwe
FiaTe; Il
Tad SHA

Column B

Erupt with great force
Most violent

Erupt quietly

Erupt continuously

T RIS WFT /SPACE FOR ROUGH WORK
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20, SirEw o
WY A
(a) EFfHTd STET (i)
(b) ¥ srEa (i)
(c) HFER FEE (iii)
(d) =R FEm (iv)
(@ ® (« (@
(1 @) G @) 6
@ @) @ G G
G @ @ Gv) ()
@) (v) (@) () ()
Match the following :
Column A
() Gulf of Tonkin ()
(b) Parsian Gulf (i)
(©) Gulf of Aquaba (iif)
(d) Gulf of Ob (iv)
(@ (b) (0 (d)
1) @) @) @) (@)
2} @) @@ @ )
3 @) @ (v) (i)
(i) () (i)

@) @)

13

WY B
HThRITF HEETR
ot wyg

did<t TR

Column B
Arctic Ocean
China Sea
Indian Ocean

Red sea

GO3
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21, ArE SEd @1 SO TEEgE A v s

SLIGE =
(a) st () wREe
(b) =N (i) STEm
(@ Ha (i) Tl vefa (mfesrg)
(d) gioen (iv) e
it 3

(@) (b) () (d)
1) Gv) @) @) ()
(2) G @) Gv) ()
G) vy @ (i) (i)
4 @ () ((v) (i)

Match the following pairs and choose the correct option from those given below :

Tribes States
(a) Angami (iy Zarkhand
{b) Kota (i) Assam
{c) Munda (ili) Nilgiri mountain (Tamil Nadu)
(d) Chutiya (iv) Nagaland

Answer options :

@@ (b) (o) (d)
1) (v) @) @ )
(2) () (@ (v) ()
() (v) () () @)
4y @ @) Gv) (i)
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22. W @ feg qv AEEiH! Fvie Iaw wafda w2
(1) o (2) W (3) (4 g
Teej a Hindu festival is dedicated to which Goddess ?

(1) Lakshmi (2) Saraswati (3) Parvati (4) Durga

23. =8 1 R Feioq Fiqwdl T TS W, SIS St e e o e siead
T, $UNIHE 1829 Hed SR URATd SEH 981 999 WHe. e SIHyd 98 TH 3%

(a) SIS YA A T8

(b) TEF YHE ST HEL

i 39T
(1) HH (a) GdaX | (2) TE (b) TR
(3) (a) T (b) A T A, (4) ()3 (b) T T TEN

Tea is made from young leaves of the tea plant. Chinese were the earliest tea drinkers in the
world. The British first discovered the Assam tea in 1829 in the forests of North-East India.
The popular brands in the world are :

{a) Large leaved China tea

(b) Small leaved Assam tea

Answer options :

(1) Only (a) is correct (2) Only (b} is correct

(3) Both (a) and (b) are correct (4) Neither (a) nor (b) is correct

ool FHHMEE FNT /SPACE FOR ROUGH WORK
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24. TETe 5 faumi=n fa=r s
(a) =1 wfeaa weRia 77 . T At s faged e 3= fwe.

(b) Swikfeela Fuvl a7 ; St g wHE 7Y UHASIAT e 3g1. 9.

39T FT
(1)  *hdes (a) T AR (2) HdE® (b) AL 3R
(3) (2} 3 (b) 3 TS A1 (4} (a)d (b) =T AT TR

Consider the following two statements :

(a)  Tropical Evergreen forests : Scattered distribution of one particular species of tree
eg. Rosewood.

(b) Tropical Deciduous Forests : They have fewer species but they are found in close
proximity eg. Teak.

Now state whether :

(1)  Only (a) is true (2} Only (b) is true
(3) Both (a) and (b) are true (4) Neither (2) nor (b) is true
25, AfEag@ ‘THAR' ¥ de Ao fawiad @O AR, TG 9 HiS W9l W@ W™
el 9 HIS S e,
(1) 64912 (2) 87 20 (3) 129 6 4) 49 9
Newly developed ‘Ennore’ port near Chennai is the th largest port in the country
and . th largest port on the eastern coast.
(1) 6and 12 (2) 8and 20 (3) 12and 6 (4) 4and?9

o HIHMET |WET /SPACE FOR ROUGH WORK
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26.  §A 2009 TG TTEALIONTER WG F FH LT TN TG WSO A

(a) STEUTHT U (b) HERE

() w9 W=y (d) wBHETE

LEIRi

(1) (e} (d), @) (b) ) (@) () () (b)
(3) (d) (@) (b) @) ) (9 (a) (d), (b)

Arrange the following States in descending order of their forest area, according to forest
survey report 2009 :

(a) Arunachal Pradesh (b) Maharashtra

(c) Madhya Pradesh (d) Chattisgarh
Answer options :

(1) () (d) (a) (b) (2) (@) () (d). (b)

(3)  (d) (&) (b), (a) 4) () (a) (d), ()

27. WOSIH! HIVH SHEl gd nfer vfiEm urm el ?
(1) SO (2) GISIKIEN (3) SLeIRIE (4) TR
Which of the following hills connect Eastern and Western Ghats ?

(1)  Biligiri (2) Nilgiri (3) Nimgiri (4) Nallamala

FoAl HIWTEET AT /SPACE FOR ROUGH WORK
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At yrar Tq
(a) ¥H (@ edETE
(b) g (i) YD
{(cy dum (iii) 3mE™
(d) <fe= (iv) oy wew
waiet Sy

@ (b) (o) (d)
1 @) @ Gv) ()
(2} () (i) Gv) (@)
@) ) (v G @)
(4) Gv) (@) @ (i)

Match the following and choose the correct option from those given below :

Shifting Cultivation State
(a) Jhum (i) Chattisgarh
(b) Podu (i) Keral
(c) Ponam (iii) Assam
(d) Dahiya (iv) Andhra Pradesh

Answer options :

@ (b) (o) (d)
1) @) @ @) (@)
(2) @) (@) @) @
(3 @) Gv) @ @
@) vy ) @ ()

FHEAT TS W /SPACE FOR ROUGH WORK
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29. M o1 AT widte gafaiat @ma v fHasl.

()
(b)
(c)
(d)

Match the foliowing and choose the correct option from those given below :

(2)
(3)
(4)

Tt

MREL)

FEY

YWl

o

(a) (b) (¢)
() @) @
(i) (i) (i)
vy (i) (i)
(i) (v) (i)
River
Sharavati
Kaveri
Ghatprabha
Chambal

(a) (b) f{c)
) @
() (@) (1)
(v) i) (i)
(iii) (v) (i)

el HIATETS! W /SPACE FOR ROUGH WORK

EPE |
(iy TR
(i) FP
(i) TorErEgEy
(rv) TireE

Water fall

(i) Gokak

(ii) Chulia

(iii) Shivsamudram

(iv) Girsappa

GO3
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30. WASUE] SR Hewk R A g HEssE! diga 9w aiEa.

(a) TE=N AW Hoor 9 (by  Tzaw = 1w gAm

(c) == FEm (d) A fortort geen ypvmelt o &
vt 39T

(1) (@7 (b) 2y ®F(© (3} (©9(d) (4) wOo@d

Which of the following factors determine diurnal and seasonal vartation in intensity and
amount of solar radiation ?

(a) Inclination of the axis of the carth.
(b) Length of the day.

(c) Extent of clouds

(d) Angle of inclination of the Sun’s rays

Answer options :

(1) ({(a) and (b} (2)  (b) and (¢} (3)  {) and (d} {4}  All the above
31, OFet YRR dreEren deadags 71 AT B

(1) <eE-fER (2) fadratiatafien

(3) T (4) Tfes

Accumulation of mercury into human body leads to disease.

{1)  Ttai-itai {2)  Methaemoglobinanemia

(3) Minamata (4) Polio
32. FEEERME weld seicater TauH gerufen gwomE v dvpen Atdls | se .

(1) SatT=E (2) SrasmadHa

(3) SowwEE (4)  SESTEREH

The continuous increase in concentration of a toxicant at successive trophic levels in food

chain is :

(1) Biodegradation (2)  Biomagnification

(3} Bioaccumulation (4) Bicremediation

HTAT HATATS T /SPACE FOR ROUGH WORK
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HIVTC] TS [EA S L= T &l ?

(1) FET A AFEES (2) TEASH TE SFEEE
(3) fhem (4) FOR HEY HleA
The main gas responsible for ozone depletion is :

(1) Carbon dioxide (2) Nitrogen dioxide

(3) Methane (4) Chloro fturo carbon

34.

T SEgHe, EEn: gaasia @ g SRiEsaie (e S digd @ W med #9ia
FHIAE R FAL ST ITGH S AT TS TR

(1) o (2) Taes (3) w&w (4) Thaed

Heterotrophic organisms, chiefly bacteria and fungi that breakdown the complex compounds
of dead protoplasm and release simple usable substances for other organisms are :

(1)  Autotrophs (2) Decomposers (3) Consumers (4) Omnivorous

35.

qRAde wdaig afes Wi 3H g El
(1) 5% ®Mee (2) <3 T (3) TR (4) =
The First National Park established in India was

(1) Jim Corbett (2) Sanjay Gandhi (3) Gir (4) Kanha

THeedT SHIHTEISH S /SPACE FOR ROUGH WORK
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36. WO B qY § WAMIO THatHat] JUE FRAsAE! Th Hewre Gl =uH UHe 91,
g1 TEH wateor Frasm anfvr guag afidtet A wet ?

(1) 1973 2 1971 @) 1972 (4) 1974

Which of the following is considered as a land mark year in the history of legislative action in

India for environment concerns during which National Committee for Environment Planning
and Co-ordination (NCEPC) was set up ?

(1) 1973 ) 1971 (3) 1972 (4) 1974

37, gan §n FEfAd syrsn qgd S 2
(1) WI@w 74 HY jons e

(2) WAMYT H* ions &g
(3) Ca* 3Tft Na* jons WM fatsedd

(4) C*ions EIMYT HIg

Kidneys are helping to maintain pH balance by which of the following ?
(1) Adding hydrogen ions to filtrate

(2) Removal of hydrogen ions from blood

(3) Dissolving calcium and sodium jons in blood

(4) Removing carbonate ions from blood

38. wiERYMNHG TwaRs wde wald diyer Sufifs gdeaitw o o, gAR 3,00,000 Db
HIS YTV THED, 3 U, SoRHE, UM el I8 IaaHd g gaed it gsat ?

(1) 1970 (2) 1960 @) 1950 (4) 1940

One of the worst natural disasters of the World was the cyclone struck in Bangladesh. As

many as 3,00,000 people, lost their lives, it is said. When did the disaster struck Bangladesh,
then East Pakistan ?

1) 1970 (2) 1960 (3) 1950 (4) 1940

HoHT RMEB WO /SPACE FOR ROUGH WORK
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39. fofow =, FORIHa, 1.00 € § S07=1 Fdie wafd Hiow 9 SUHYE U 3R &R 39
Ve ¥EH " T SEN TEeS RY.  fafewH Eot aeaen @ie o fayridst S
SIS 3T ?
(A) =t Frel Tafowin oo ' 1w ey feore’ wee .
(B) 9T Wed WY FRW q¥ Ywel- - TR Forsa1 TR Gorrsy |
(1) FI (A) (2) 9 (B)
(3) (A) ¥ (B) &= (4) (A)T (B) Tl TR

Silicon Valley, California, United States is one of the greatest science parks in the world
today as it contains hundreds of hightech information technology industries. Which of the
following two statements about the Sillicon Valley is correct ?

(A) Silicon Valley was once called the “Valley of Heart's Delight”.

(B) It was so called because hundreds and thousands of varieties of flowers bloomed

therein.
(1) Only (A) (2} Only (B)
(3) Both (A) and (B) (4) Neither (A) nor (B)

40. 2011%H TTe foeTe SAgaeT 109 <1 SgaEar! Sied T i 918l S, @1 FRaTarar
a1 TS Fere WV BIehH T S!Sl STuEta a1g ?

1 172 2y 1/3 3y 1/4 “4) 1/5

Human development report of 2011, presented Multidimensional Poverty Index (MPI)

estimates of 109 countries. What proportion of population according to this report, in these
countries experience multidimensional poverty?

(1) 1/2 () 1/3 3 1/4 (4 1/5

oAl HRTHSH ST /SPACE FOR ROUGH WORK
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41.

42,

24 A

el U9 i e €. A aviA Hod Tkt wEETd! IR RV ? Soteist 909 qaig

(1) usifas, @d:9qge HIR, WidA, 97, AR gTRR
(2) AU, IO, fReTe, aTAl STTUeREeE

(3) o7, o, FEw, fqvars oo, =g

(4) L 99 T16, 3T SE 3¢9, EId T, wE, e

What are the core values of development as described by Amartya Sen and Goulet D ?
Choose the correct option given below :

{1} Sustenance, self esteem, freedom, capabilites, entitlement.
{2)  Health, nutrition, =ducation, capabilities, entitlement
(3) Food, clothing, shelter, drinking water, sanitation

{(4) Increase in national income, per capita income, basic needs, freedom, education

S[A 2012 Weffe Trvad fadraretE fE + 20 uitee ‘et seforeean’ grears w9ew B, Toieds!
HIRE TEHIA! Ydaahid | fglem aefemed’ 9 o wWe Tt 7

(1) w99, 1. WisHd, U

(2) 1. e, T wiEed, 3. AR

(3) 14, FIfEY, =, AL, T BEHT

(4) I e, S IS, Tigy

The June 2012, Rio+ 20 conference on sustainable development advocated the “green
economy” model. In whose book the term ‘green economy’ was coined ?

{1}  Amartya Sen, D. Friedman, Samuelsan
(2)  D. Pearce, A. Markandya, E.Barbier
(3) L Quadeer, W. Berry, N. Hatekar

(4) D. Greenberg, | Taylor, 5chmidth

Tl R AT /SPACE FOR ROUGH WORK
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43, YeAR g ana _ @A

(1) THRT=A o A (2) ehTemSA A CIEE

(3) TS ST w (4) VTSN AT B YT

The velocity of radio waves is
(1) Greater than velocity of light (2)  As that of velocity of light
(3) Less than velocity of light (4) Exactly double the velocity of light

44. 2011 N TAUATHN VRARAS At WewE! Srhsen 10 are I JR 2
(1) 52 {2) 53 (3) 54 (4) 55
According to 2011 census how many cities in India have more than 1 million population ?

1) 52 2) 53 (3) 54 (4) 55

45, gunqe faed (faaedl) widt wg oot weteds! 9ra i fas
(1) 9k, TaFE, dfEE (2) TSI, FEISTE, SifvR
(3) i, qola, wistaw (4) 3T A
Land reforms promote triple revolution. Choose the correct option from the following :

(1) Cultural, Political, Technological (2} Political, Social, Commercial

(3) Economic, Political, Cultural (4) None of these

46, 2011 =1 FPUATER 2001 & 2011 STAFE S, WIewd IO 96 @ioioyst &l 2 ?
(1) 53.7%d 655 % (2) 54.1% 9 67.2 %

(3) 523%74d 644 % 4) 553 % 3632 %

As per the 2011 census what was the rate of improvement in female literacy during
2001 to 2011 ?

(1) 53.7 % to 655 % | (2) 54.1% to 67.2 %
(3) 523 % to 64.4 % (4) 553 % to 632 %

A
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47. IS W faeRt W waroma Seed ?
(1) e fidRiuEes (2) ARG N, FRATFHSS
(3) TR (4) felEres

In plants, which enzyme is found in largest quantity ?
(1} B galactosidase (2) RuBP carboxylase

(3) Enterokinase (4) Heterokinase

48. SifFEvaEI=n I H TR €W 2
(1) e, +dal (CO,+CO) (2) €Ll + TN (CO,+NO)
(3) WAL, +30, (CO,+0,) (4) ELa, + TELHL (CO,+ H0)
The end product of aerobic respiration is ;
(1) CO,+CO (2) CO,+NO

@) CO,+0, 4) CO,+H,0

49, 2000 wiow TEE SedE s JPEe 3IRER R sEes w1 S0 SR, EetetE
v quid § 3fqEE A S R ?

(1) 2015 (2) 2025 (3) 2035 (4) 2045

The long term objective of population policy 2000 is to achieve stable population. During
which of the following years this objective is targetted to be achieved ?

(1) 2015 (2) 2025 (3) 2035 (4) 2045

oA HIATGTS JT /SPACE FOR ROUGH WORK
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50. WiE YAEEA  Aedddl Seued Hiuel SaTeRt Heftd g @ At Fest

(1) DiFHE 916 N THReTS =,

(2) OFHE a6 1 Fasuds T

(3) owyE ae It faw

(4) OrHE®A A S S

Choose from the following options what the “Malthusian Population Trap” is related to :

(1) Population growth and positive checks

(2) Population growth and preventive checks

(3) Population growth and development

(4) Population growth and fertility

51. aifa oy Eiefmin 9gH (245 GHz hea=it) %98 %/ IR ?

(a) TUEHE ST TEE (b) Yergtde drsiwar FHH yHOE T W
(c) Tveramed siifos sme wed () frsfqeo 3R

(1) (a), (b) 30791 (d) (2) (@), (b) ¥ (c)

(3)  (b), (o) 3T (a) (4) () 3Tt ()

What are the advantages of Microwave oven having microwave frequency of 2.45 GHz ?
(@) There are no flames o

(b}  Destruction of nutrients is less

(c)  There is a physical change in foods

(d} Sterilization effected

(1) (), (b) and (@) ) (@) (b)and (9

(3) (), (c) and (d) 4) (0 and (d)

HoedT HIFHIS | /SPACE FOR ROUGH WORK
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'O TR RYTE IR

(1)  IZIT SougITe B0 STATTEy ST
(2) IS ST SO YT W
(3) IS LUl IO STYTAIEY HHAE,

(4)  RIEIT=AT IR BIOTAT GeTed WA,
Raman effect is due to:

(1) Inelastic collision of photon with e~

(2)  Elastic collision of photon with e~
(3) Inelastic collision of photon with molecule
(4) Elastic collision of photon with molecule

SR @R W g% T g 2R e ggurrasd sied], W™ o SEgER R HOW 5
WRHGIE AT,

(a) Tafds o fovm v o0 9@

(b) el TEETHt fo¥H fshan SAom ey w9
(c) FemaTe faeeE fvn e ST aY o
(dy s feen # 1 #om widafem 9o

Tl HI0H! GUR & TR 7
(1) (a) 30T (b) (22 (a), (b), (c) MU (d)
(3)  (b), (c) 0T (d) (4)  (a), (b) &M (<)

If a heavy load is pulled along a smooth horizontal surface, then the force acting on the load
may be :

(a) The applied force in the horizontal direction.

(b} The force of gravity acting on the load vertically downwards.

(c) The force of friction acting in the horizontal direction opposite the motion.
(d} Reaction force due to the horizontal surface.

Which of the above statements are true ?

(1) (a) and (b) (2)  (a), (b), () and (d)
(3) (b), (0 and (d) 4) (@)

wHosT SRIATHTS 9T /SPACE FOR ROUGH WORK
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54, WASYHR HETH FABLT Foo d M ?
() FEFTOHGE (b)) TEHE () PO (d) TERZ (o) HAR
(1) WEwERAE (7)) (b)) (d) @ @ ©)C @) (@) 0), ()
The allotropes of carbon are :

(a) Carbon halides (b) Diamond (¢} Fullerenes (d} Graphite (e) Chaoite
(1)  All above ) ®) @ 3) (@ (b) (© (4)  (a). (b}, (d)

55. et frgmfa et stramieioy wel ameesd ?

1 2 2 3 (3) ¢4 (4 1
Oxygen occurs in nature in _ isotopic forms,
(1 2 2y 3 3) 4 4 1

56. WiHloie! 4y St fEs W,
(a) wAfERl ar yeruiien Tu4rg YT A S,
(b) el fela died gafd Jo 7R S
() AfeE ied Bel 3.
(d) =Rl g8 yeHie ary Rreiqe S ST S
(1) (a), (c) 3nfim (d) Ferd )  (a) 3 (b) HH
(3)  (c) M (d) HH (4)  (b) MO (d) e
Choose correct statements from the following :

a) Sound waves travel faster in solids than in gases.

b} Sound waves iravel fastest through vacuum

(

(

{c} Sound waves are longitudinal waves

(d) Sound waves travel slower in gases than in liquids.
(

1) (a), {c) and {d) only (2} (a)and (b) only
(3} (c) and (d) only (4) (b) and {d) only

e HIMHTE! J0M /SPACE FOR ROUGH WORK
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57.  SAEI fgArAYgdl IO ATl AT HE Hel 2

1y 3" (2) U o g

(3) o ToTH (4) ToeioRTRy

Which Botanist introduced the ‘Binomial’ nomenclature to the plants ?
(1} Bessey (2)  Bentham and Hooker

(3} Carolus Linnaeus (4} Theophrastus

58. iU Yo A3t HerE WYSWW, WUEH N0 =gy F1 7

(1) SR St (2) AT
(3) A (4) FwLA
Which animal tissue synthesizes, stores and metabolizes fat ?
(1)  Epithelial tissue (2)  Adipose tissue
(3) Connective tissue (4) Muscle tissue
59, fawy (&) __  ydmE.
(1) WFOvig S (2) ueifafafes o
(3) wEUEi e (4) 3TTvR Sta
Viruses are :
(1)  Unicellular Organisms (2)  Cellular without cell wall
(3) Multicellular Organisms (4) Non-cellular Organisms

60. @ieys! fauma varg i ?
(1)  wighh (2) 3 (3) WEIYHE (4) SOwoF
Spot the odd one out ?

(1) Humerus (2) Femur ' (3) Radius (4) Scapula

HoeAT HIHTETS AR /SPACE FOR ROUGH WORK
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61, Fomdie AEEh A8S HIVM ?

1) Fieo anfo 9fiEe (2) Tige anfon g

(3) s A (4) free g anfor g
Which of the following are essential whorls of the flowers ?

(1) Sepal and Tepal (2) Sepal and Petal

(3)  Androecium and Gynoecium (4) Calyx and Stamens

62. YA A g8 f19 Hid?
(1) ite=sa + & (2) T + FHNH
(3) Wi T UN + wmEA T sAEEs (4)  Tiedl R Ul + @l

Urea is transported by :
(1) Plasma + Blood (2) Blood + O,
(3) RBC+ CO, (4)y WBC + Saliva

63. Were faymidl weadl Tedra.

* 371 Her wihdl gwieE 398 g1 TEEtTE ugrafen sy ddie amu et wele arikys 7@

(a) =Td g fepfauamet sf=taiadee = ame

(b o7 fewrem JavawE! FHEHEINT 7 T2 AW TR,

(c) T F9 UIRN TS 9T HE A= GINHHT F:01.

(d) 3= Ulshad Ihd =1 A19L HIul.

(1) &4 fagrm 9= ea ‘ (2) (), (), () ¥

(3) (a) 3001 (d) " (4) dd faum Ta® meq

Which of the following statements are true ? The guidelines for “the use of chemical additives
in food processing” by Food Protection Committee in publication 398 include :

(a} Use of antioxidants to maintain nutritional value.

(b)  Use of anti microbial agents and inert gases for food stability.

{c) Use of colouring and flavouring agents to enhance the attractiveness.
(d) Use of buffers in food processing,.

(1) All are true (2) (a), (b), (c) are true

(3} ({a) and (d) are ture (4) All are false

oAl HIWATES A /SPACE FOR ROUGH WORK
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64. WIHTIH FIS faum weg I ?
(a) sfem-sog 71 i 1 atme.
(by 3ifeer &1 Fm 11 37,
(1) W w= (2) (2} 5, (b) HEH
(3)  (2) 3, (b) T (4) T oS

Which of the following statements is true ?
(a
b
(1
(3

Indigo - blue is a natural dye.

——

)

) Alizarin is a synthetic dye.

) Both true (2) (a) true, (b) false
)

(a) false, (b) true (4) Both false

65. GHUS o IUAEUEL TI BT JU:FHI HedTH GHTATN 8@ {0 Tar e ?

(1) T anfor fes (@) W= e dE

(3)  TEHIS N HEES (4) TS sufor e
Upon hydrolysis, sucrose yields equimolar mixture of :

(1)  Glucose and ribose (2)  Fructose and ribose
(3) Glucose and fructose (4} Lactose and maltose

66, fotiest ffit & woiots! oot TeHTHT Fow AR ?

(1) CaO -SiO, - ALO, (2) CaO - ALO, -MgO

(3) SiO, - Al,O, - AICK (4) CaO - SiO, - AlCl,
The composition of cement is :
(1) Ca0 - Si0, - Al,Oq (2)  CaO - ALO; -MgO

(3) SiO, - AL, - AlCk (4) CaO - SiO, - AlCI,

AT HIMTETS W /SPACE FOR ROUGH WORK
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67.

33
HIorg s Ay ?
(1) it (2) ®N (3) W (4)
What is not a mixture ?
(1) Water (2) Air {3) Soil 4)

68.

69.

70.

Trgre feediato 78 Ievd e Ted THE .

() TSRS (by ST

() (d) USRETR HSA

(1) wwRaAT (2) (a), (b) (0 (3 (a) (b). (d) 4)

The fundamental requirements for nitrogen fixation are :

{a) Nitrogenase (b) Ferredoxin
(cy ATP (d) Aercbic conditions
{1)  All the above (2) (a), (b), (c}

(3) @6 () @) (@ () d

FuAu A8 g 8 A $oodr smEA) sifgs vt S st ?

(1) e (2) wETHN (3) AR (4)
In DNA, thymine always pairs with o
(1) Adenine (2) Cytosine (3) Guanine (4)

wferrear fafida Feoar RNA = e 8 oR ?
(1) mRNA (2) tRNA (3) iRNA
In protein synthesis, which RNA plays an improtant role ?

(1) m RNA (2) tRNA (3) iRNA

HoAT HITWETS! AR /SPACE FOR ROUGH WORK
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71.

72.

34 A

S HeH 22 Hawd, FTE MBI AYER Al Wdaud TUEEEd HaTd St S fRdt e
TG o] g FS WS 4 7

(1) 27 (2) 3= (3) 47" (4) 6 Hled

Under Article 22 of the Constitution of India, with the exception of certain provisions stated
there in, what is the maximum period for detention of a person under preventive
detention ?

(1) 2 months (2) 3 months (3) 4 months (4) 6 months

AT YRR QISG! R0 HELI GGE ATVIE Jriiv drmfes, snfels agoret = dvars
TN §aq Qe qed ?

(1) =9 gk *rEal (2) Yo F FE
(3) T FHG THA YROT HHES] (4) HIAH HER]

Which of the following statutory provisions will you view as the most effective instrument of
rural socio-economic distributive justice in the independent India ?

(1) TForest Rights Act (2) Agricultural Tenancy Act

(3} Agricultural Land Ceiling Act  (4) Debt Relief Act

73.

WTAGTH] H] FATGELATEN ToTeh!d T&ITAUaT e ATIVATN Fa 30t ?
1y 492 () 527t 3) 62 (4) 707

Which one of the following amendments to the Constitution of India sought to curb political
defections ?

(1) 42nd (2) 5ond (3) 62nd (4) 70t

HEAT HIHWE I /SPACE FOR ROUGH WORK
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74, YR T faumte @ 9vg e 7

(a)

(b)

1)
(3)

S GIeT TIEURTYY WETEER e FAFNE I TR FUES! I S 9 SR St

YT Hrel S HTHRISIT Twgeh FeU[H ATIell ] T8 = 1, G0 J HFE JATTIE! Il
Sy Hrer ¥ Oifeam gagT Hlare ow.

B (2) (2) W (b)

(a) @ (b) TRt (4) (a) @ (b) T @

Which of the following two statements is correct ?

(a)

The soda commonly used in the kitchen for making tasty crispy pokodas is baking
soda. The baking soda is a sodium carbonate.

(b) Washing soda is usually used as a cleaning agent for domestic purposes and in glass,
soap, paper industries. The washing soda is sodium hydrogen carbonate.
(1) Only (a) (2)  Only (b)
{3) Both (a) and (b} (4}  Neither (a) nor (b)
75. UL AFATUSR SERTE STeas] S TEei«l I Qoois 9e uog! aftdt F -
(a) DHAGT HeAY (b) TeIEEH IUTEAY
(c) Orwudde falsl vamd (d) TEmIdE fale uaen
() wayyM (f) e Tewl
4trg vy fas
1) @) (@ () = () (2) (a), () 3 (e)
(3)  (a), (), (d) N (e) @) (@) (b} (©) (d), (e) =nf (5)

The Chairman and Members of the National Human Rights Commission are appointed on
the recommendations of a committee consisting of :

(a)
(b)
(c)
(d)
(e)
(®

Speaker of the Lok Sabha

Deputy Chairman of the Rajya Sabha
Leader of the Opposition in the Lok Sabha
Leader of the Opposition in the Rajya Sabha
Prime Minister

Union Home Minister

Select the correct answer from the codes given below :

1)
)

(a), {c), (e} and (f) (2)  (a) () and (e)
(@), (¢}, (d) and (e) (4) (a). (b}, (c), (d), (e) and (f)

HEAT FATETS A /SPACE FOR ROUGH WORK
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76. ﬂﬁ? N faymran e e
(a) SO e TEgEie WS FWin # § TeAhRdw Weg S0, STeeAW e i
e fraio 3 S 9 gETEe @l 9 AT SR B,
(b) WA TrglwTse (fuee 3w W) =1 TR T 93 S Thl U SHouids 3R,
FHIR IR TUITH ST 3T ?
1) 9% (a) (2) % (b)
@) @) TR @) (a) 3 (b} AEET T
Consider the following two statements :
{a)  Ourstomach produces hydrochloric acid. It helps in digestion of food. During indigestion
the stomach produces too much acid causing pain and irritation.
(b) Magnesium hydroxide (milk of magnesia) is often used in the above condition which is
an analgesic ?
Which is a completely correct statement ?
(1) Only (a) (2)  Only (b)
(3) Both (a) and (b} (4) Neither (a) nor (b)
77. WEIOGUH! FHIC GeodT= TRUTH RUEF GHeA 24 9 9T g6H HEg 690 Fe ?

(1) ToHNY T 2) =i foew ween
(3) HYEMT WA G 4) Yiw{ yER "

Which one of the following cases prompted the Parliament to enact 24'h Constitutional
Amendment Act ?

(1) CGolaknath case (2) Minerva Mills case

(3) Kesavananda Bharati case (4) Shankari Prasad case

THEEAT HIUTETS AR /SPACE FOR ROUGH WORK
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78. mwmwmaads () e wiaee o s

me:

(a) TR .- sfafes sifae ) - wafew offas

(c) F&a-zraf sifag (d) niel - NiewiTew offas

(e) ive gy () - O offs () oy - wafes oifae
(p) Toeama < - B oifvs (h) Ao <@ - GTHE e
(1) (o) ) (@ (3) (8 (4) ()

Some naturally occurring acids are given below with their sources.

Indentify the incorrect pair :

(8) Vinegar - Acetic acid {b) Oranges - Citric acid

(c¢) Tamarind - Tartaric acid (d) Tomatoes - Oxalic acid

(e) Sour milk (curds) - Lacticacid  (f) TLemons - Citric acids
(

(g) Ant sting - Methanoic acid h)  Nettle sting - Sulphuric acid

1) (© 2) @ 3 (8 4 O
79. GO faum &
(2) VrFENE N 7 w0, W Toaadd yafdq sraoo favas, Swaw faafiq aeam s
B
(b) B Feafia Freamw wRdTE Yofaa fadas o g,
FhSIHR! Fo/d faum/Y wtew aR/a?
(1) FH (a) (2)  (a) TR ST (b) e MY
(3) (a) suf (b) <t (4) ¥ (b)

Consider the following statements :

(a} Bill pending in the Rajya Sabha which has not been passed by the Lok Sabha shall
lapse on dissolution of the Lok Sabha.

(b) A Bill pending in Parliament shall lapse by reason of Prorogation of the houses.
Which of the statement/s given above is/are correct ?

(1) Only (a) {2}  Neither (a) nor (b}

(3) Both (a) and (b) (4) Only (b}

/AT HUTAS AN /SPACE FOR ROUGH WORK
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80. 3N WRf9eg HRR MHt=l Aqe@es AEHE eSS FTHHEE Mfafe S aread
Tt Fede qH= T FIv ?

(1) <ONd da3

(2) EREHE AW F R AR SEHR Gwds
(3) HiEaTd FEHT e

(4) =T

Which of the following non-violent movements led by Mahatma Gandhi against the British
Raj, you would rank as the most effective to mobilize the masses ?

(1) Quit India Movement
(2) Swadesi use and Boycott of foreign goods Movement
{3) Civil Disobedience Movement

(4) Fasting

81, WE TE hoe! T W FHearan fohar qoi sar o=t feear=n Ay SeHy $149 3R ?

() TMST (b) ey w2 (c) (d) =ERTE
i it frae

(1) (@) (b), (c) #nfr (d) (2) (@) (b), () =¥ (c)

(3) () (a), (d) 3 (c) (4)  (b), (d), (a) ¥ (c)

What is the correct chronological order in which the following states of the Indian Union
were created or granted full statehood ?

(a) Nagaland (b) Andhra Pradesh (c) Haryana (d) Maharashtra
Select the correct answer using the codes given below :

(1) (@) (b), () and (d) (2) (a) (b) (d) and (c)

(3} () (@), (d) and (¢} (4} (b}, (d), (a) and (c)
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82. TR HIGI 1955 HaTld, WEIGIHI HIA TAAER TR a1 TRaT A o 79 ?
(@ et i A () ATMERFH  (¢) TH YA FedH

(d) TfsgartamgR (e) ievit gR

aEte 9 7atg e

(1) (o) (©), (d) 37 (e) (2) (@), (), () 3T (d)
3)  (a) (0, (@) 3 (e) @ (@) ®), () I (e)

Under the Citizenship Act 1955, by which of the following ways can a person become a
citizen of India ?

(a) By incorporation of territory {b) By descent (c) By birth
(d) By nationalisation {e} By registration

Select the correct answer using the codes given below :

(1) (), (©) () and (e) (2) (a), (), (c) and (d)

(3) (@) () (@) and (€) (4) (), (), (©) and (e)

83. 2011 AT VTR HIUedl ToTE1 SHGEAT ST €2 0 g ?

(1) W @ fg (3) TTmes (4) STEITEE YU
Which state of India has negative population growth rate as per census 2011 ?

(1) Goa (2) Tripura

(3) Nagaland (4) Arunachal Pradesh

84, WRANIT Faid Hafed M ‘ WRA 7 [OEHIE FEAT I T @ 9 sargda @ foedt
eI T 3T 7

(1) 1952, 67 (2) 1954, 41 (3) 1969, 45 4) 1972, 41

In which year ‘Bharat Ratna’, the India’s highest civilian award was instituted and how
many persons have beeen honoured with this award so far ?

(1) 1952, 67 (2) 1954, 41 (3) 1969, 45 4) 1972, 41

AT HIATWTS ST /SPACE FOR ROUGH WORK
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85. ‘ST foeR’ e SEaen Wreie AuEE faur 9
(a) 3 ALY T 7 ‘T TR USE WA HATHTT IO,
(b) ‘ugH W' J @Aa i ‘Gt e AR R T,
T fauriiat S /i fau/3 aPEt e/ o ?
(1) %A (a) (2) i (b)
(3)  (a) ® (b) < (4) ()3 (b) S T
Consider the following statements about ‘Jaymala Shiledar’.
{a) Born in Indore and obtained Degree of ‘Sangeet Alankar’ with First Rank,

{b) Honoured with ‘Padma Bhushan” and ‘Sangeet Natak Academy’ award.

Which of the above statements is/are correct ?

(1) (a)only (2) (b} only
(3) (a) and (b} both correct (4} Neither (a) nor (b)

86. TaurEIR FTHHE IV YT = ?

(1) R (2) St e fee

(@) wwat o dusi (4) v, fé@ v soreftm

In the Legislative Assembly the official work is carried out in which language ?
(1) Marathi (2) Marathi or Hindi

(3) Marathi or English (4) Marathi, Hindi or English

87. WRG WERA 26 ST 2013 TS Fivien Simurer 98 o ?

(1) arfofa (2) U

(3) WRIwE @) fa=d

Which drug has been banned by the Union Government on June 26, 2013 ?
(1) Analgin (2) [Paracetamol

(3) Proctolol (4) Vicks

oAl _FMEIE! ST /SPACE FOR ROUGH WORK
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88. YEi® FIUMI faw =g aRd ?

(@)

(b}

(c)

(1)

ST @ Tt famaritads T 9= e 6% T3 = vamel § WA 9w
T T R,

siftRiasTa 9 HTE) TILU=N JaHed Sl gurond offorsyea 7 fammsiifrdsm @ fagm
20T 2o T A i g2 d eeaie ST,

HIEYAE shde 3 SIoNH ged HEd HRU & ey 988 S5 A 8 3§ qa
YRIC=AT 3 9T Sl

(a) 9 (b) (2) (bya(e) B @9 (4) {a), (b) T ()

Which of the following statements are correct ?

(a)

(b)

()

(1)

So as to prevent oxygenated blood from mixing with deoxygenated blood birds and
mammals have four chambered hearts.

Amphibians and some reptiles tolerate some mixing of oxygenated and deoxygenated
blood and therefore have three chambered hearts.

Fishes have only two chambered hearts as here blood is pumped to gills to get oxygenated
which then passes to the rest of the body.

@and(b) (@ ®end() () @and(© ) (@) ® and (©

89, WSIH FIH T TH AR

()
(b)
(©)
(d)
(1)

#FA V- AWEEE Tooars SO

Forepes - ot g7 Hoe

I - BrEITE F3 aravine

Y - 3179 JoodId ATTuIEs

() emfor(@)  (2) (b) 3 () (3) W= (d) (4) T (b)

Which one of the following pairs is not correctly matched ?

(2)

Agni V - Intercontinental Range Missile.

Trishul - Supersonic Cruise Missile.

Shourya - Hypersonic Cruise Missile

Dhanush - Short Range Missile.

@and(d) (@ Mand(© () Only () (4) Only (b)
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90. EE {ud I amaen weie fayrmEr F=E %1
(a) fa=t wo ‘fafey 9fisTe B W' W[ 1906 WEd v T3l 8.
(b) 1947 74 TAfoTe Wi fad sfReee wuA TRl ST snd,
(c) f IwEEHs) ETgT A AR

(d) 1991 723 faen sifvmq faenfaern =i <vam amen.

Fredw FvR/Ho faur SHET o ?
(1) T (a) T () (2) R (b) T (c)
(3) W (c) U (d) (4) T (a), (c) T (d)

Consider the following statements about the Forest Research Institute (India).
(a) Tt was founded as the "British Imperial Forest School” in 1906.

(b) It was reestablished as the Imperial Forest Research Institute in 1947.
(c) It is located in Dehradun (Uttarakhand).

{d) It was declared as deemed university in 1991.

Which of the above statements is/are correct ?

(1) (1) and (c} only (2) (b} and {c) only

(3) (c) and (d) only (4) (a), {c) and (d) only

HEAT HUEIS ST /SPACE FOR ROUGH WORK
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91. W AFEH REHRHCH o “A” 9 g1 “B” AHE Sieal Yol
Hei-B
(IR 99 )

(d

(1)
(2)
3)
4)

Match the list “A” with list “B” with reference to Sahitya Academy Awards :

(1)
(2)
(3)
4)

it-A

(=t )

M AL

T Tk

ITAE HEH

o TiesTe (I)
@@ () (© (@
@ (@) () (i)
(v) (i) (@) (0
(i) (@A) (@) (@(v)
(i) @) (@) (iv)

List - A

(Person)

Shyam Manohar
Vasant Dahake
Ashok Kelkar
Manik Godghate
(@ () (9 (@
M G

(iv) () (D) (1)
(i) @

(my @) @ (v)

List -

2011

2009

2010

2008

B

(Award year)

() 2011
(i) 2009
(i) 2010
(iv) 2008

GO3
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92, SANIIHT T W Thdl HIBM SUaTE! HIRHROTTE ST G 3794 ?
(1) A VAR L ICED I
(3) Ale=ma (4) o wfe=m

Within what period is the Government entitled to reply an unstarred question
generally ?

(1) Within a week (2)  Within fifteen days

(3) Within a month {4)  Within three months

93. AR F.1 = A F.11 M Jeoult &4 31T WPt feoeamy se) aiwfasidt fag w7

AL - 1 qret - 11
( e st wereq ) ( T HEd ST )
(a) FHI (i} 9564
(L) SEa (i) 1400
() T faet (faueh) (i) 3300
(d) AR (iv) 6600

@@ (b) (o) (d)
(1) () @) Gv) @
(2 O () () ()
(3 () (v) () (i)
(4) (v @ @) ()

Match list-I with list-Il and select the correct codes given below :

List-I List-11
{Planned power projects) (Capacity in MW)
{a) Chutka (i) G564
(by Jaitapur (i) 1400
(c) Mithi Virdi (Viradi} (iii) 3300
(d) Kovvada {iv) 6600

@ () () ()
1) ) i) @) @)
@ @ ) @b v
@) @) v 6 )
@ ) 6 G (i)

TN SR 9R0 /SPACE FOR ROUGH WORK
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94. TN HIeArEl HRMld WIHeTE! S Teea (T S0 3o ) TE 91 I 95T g S
e ?

(1) FRES 3= A (2) YE a2
(3) HieteTER fas =maiey (4) YT I A

Which one of the following convicted RJD (Rashatriya Janata Dal) Chief Lalu Prasad Yadav
in a fodder scam ?

(1)  Jharkhand High Court (2) Supreme Court of India
(3) Special CBI Court (4) Patna High Court
95, T (Mars) ST WIO@ Wal S9AT 1@ TSI Bl Saoedl TRiHiAl $16 HHaKH
o
(a) ST (b) e
(c) = (d) St
(e) FUfrE w9 wid ()

(1y  srafie, e, =9, S9E, g, AT 299 g
(2) e, sfian, ST9M, AR 09 TSET, 919, IR
(3) e, sm, sdfiE, =9, qOfte ww T, 9T
(4) =TafE, Fm, suE, =59, Ut T e, I

Give the correct chronological sequence of the missions undertaken to Mars by the six countries
or agencies given below :

(a) America {b) Russia
(c) China (d) Japan
(e) European Space Agency  (f) Bharat
(1)  America, Russia, China, Japan, Bharat, European Space Agency.
(2) Russia, America, Japan, European Space Agency, China, Bharat
(3) Russia, Japan, America, China, European Space Agency, Bharat.

{(4) America, Russia, Japan, China, European Space Agency, Bharat.

HoeAT HMMEIST AR /SPACE FOR ROUGH WORK
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96. sRfdE FolaTe, faros Ta gEmsEt 9 3 eyt Ul ey [@ie 29 faur e .
(a) 1 Ar.IMEI. FAYE rsht faene smea.
(by =N TR et TeaE g Fasuia 70 91 29 fawmht fasa ura wan

qisg ;
(1) F9& (a) T (2) haa (b) T
(3) (a) ¥ (b) VE fauM T (4) (a) 3 (b) TrE U o=

Consider the following two statements about Arvind Kejriwal, the new chief Minister of
Delhi and the leader of Aam Aadmi Party :

(a) He is an alumni of IIT Kanpur.

(b} In the recent elections held in Delhi his party won 29 of the 70 seats.

Options :
(1) Only (a) is right (2) Only (b) is right
(3) Both (a) and (b) are right {4) Neither (a) nor (b) is right

97. WRATSAT AW G A FITHY HIST 1 :

(a) @t | (b) T TH

() TEWLES (d) o wmem

(1) (@) (d) (), (b) (2) (@ () (b) (d)

@3)  (b) (@) (d) () 4 (®) (9), (a) (d)

Arrange in chronological order the chairmen of Atomic Energy Commission of India ?
(a) Homi Bhabha (b) Raja Ramanna

(c) H.N. Sethna (d) Vikram Sarabhai

(1} (&) @) @) ) ) @) (©. b) ({d)

G/ ORCACHACH 4)  (b) (c) (@) (d)

98, WIHIGIH! HIVE F T (TIET) TS dad A AR ?
(1) @R (F93)
@ O wE-TE () (TTET)
(@) (i) Igew Fu-wg
(4) <IUE TSHE! Aw g Wfsgea I (ew) WEn
Which one of the following news agencies is the oldest in the world ?
(1) Reuters (England)
(2) Agence France - Presse (France) (AFP)

(3) Deutsche Presse - Agentur (DPA)
(4) Telegraph Agency of the Soviet Union (TASS), Russia

HeAT HATHIST I /SPACE FOR ROUGH WORK
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99. IR A1 UEF TRU=AT SERT d HAIRS FIASI A=al R T HIVR ?

(1) e (2) A (3) faftn (4) w4
The first country to legalize production and trade of marijuana is :
(1) <Cambodia (2) Srilanka (3} Syria (4) Uruguay

100. el R WG W@ TAHE Al AT 65 S Tl Mader. FAfah= #eFm e 7 9.
=N Yl % Taerst, T30, Sa0e i, 998 997, F1, 991 (e 9o $M %0, e 980 o
g faurT= faar w4

() ‘' wESH we = T giuardt Jiae Septe dgaet.
(b) T EEAMTHN HeH g3 A9 T,

iy
(1) Fa3 (a) TR (2) FISB (b) TN
(3) (a) @ (b) = fauM s (4) (2) 3 (b) T % faum g%

The versatile actor Farooq Sheikh passed away recently at the age of 65. He died of heart
attack. He acted well in Shatranj Ke Khilari, Noorie, Umrao Jaan, Chasme Baddoor, Katha,
Bazaar. Consider the following two statements about him.

a In ”Ii Mantriji” he performed the role of a Secretary to the Government wonderfull
] y
well.

(b) He suffered the heart attack at Dubai.

Options :
{1) Only (a) is right (2) Only (b) is right
(3) Both (a) and (b) are right (4) Neither (a) nor (b) is right

-gl0o-
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ol — (7= 1 o671 §@....)

®) TETIfined fafed Focm fofre i #51 &m (16 %) F1R. wAgfasafifEn saubea @
T FIEA FH FH Hed™ § wH FOErE RN FS AR, I AFS TES 9 AHUR TR
WA T Foed ' rigined o gewr Sieey saEead Afufan-s2 ' arite Tgear sl
U 35 9 N 9! HATS T guie SREErg Af/fEa T3 T TR @ Seren fadd
T B,

(9) T TEIRREE ST fafed I 3% Tucara RTINS & TR 9 S TR
I I WA SR, UTH TUT HYTERT SoaigEl e TUeaT Seutrher wi-1
ArANFTHS 7 fraar e F) smavas o

. . 201,

U. . 201.

AT T
T ATE TR HIATHIG RV qEd: I e 7
(1) @ e wEE ?) FvarEg faemrr
(@) T e W (4) g WEe
71 Y9 9 St (3) TS TERT 08T I AR, e A1 yEE S C(3) IRe. o
ESteyATs I %, 201 gEe S-wuiw Q)" ¢ ade i ewifEd e qrafid
IETTF ST,

ONON O

M TgAR TEE Tfaede TaE TSIEl qEEl SOEHE @ R @aaden [aeen
sTefadals ™ & yEAEEEe Halyd afe qeivd orifre s Sraaa. gl
wa 1T YRR Arei ars, ifee ar e i e 1.
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TR A : T Wt (q9) Tt adien-2014 g e . 02 wEant, 2014
fas=: (W w1)

RN AhaT SRR « T Hal (qa) Trel URetl-:08%” a1 TRIE] JeIe a1 JTRlcreh SHEaRIeAT Hfediama! dedrEear
TS IO AT AR, HeX ISTcleTehaiel Te-Saeel SHGeRAT Foe shiaam S9eard Ui 3.2 o Ui .3 o e T
RIS TR TR 5. L & U 3. 2 T el THTeR 33 it STTHIToTe Tienior / S3eige. <urei Sudiee (TU-ia) HeRTe cieheeT ST,
3 1 WA, AT 3TEAT SARE, WeTHT Mt WO, Hag-Q A O TS AEEH 5. 23 AN, Ry T SRS Tetderedt
STRATE ST ST A5, TEAR ST el fera I Hefett STV 1@ el el o S .

ettt - KEY
e ELL LR EL
ERcy WIA | WGB | 9C | W=D wHiw | §IA | WGB | ¥=9C | €=D
1 4 4 1 4 26 4 3 2 3
2 4 2 4 4 27 1 1 3 1
3 1 2 3 1 28 3 2 2 4
4 4 1 1 4 29 1 3 1 3
5 2 4 4 4 30 4 3 4 2
6 3 1 4 1 31 3 2 2 2
7 4 2 4 4 32 2 1 2 1
8 4 4 2 2 33 4 3 4 4
9 4 4 2 4 34 2 2 1 3
10 1 4 3 4 35 1 4 3 2
11 3 3 4 3 36 3 4 2 4
12 2 4 2 2 37 2 1 4 2
13 2 2 4 2 38 1 2 3 1
14 4 4 4 3 39 1 2 1 1
15 2 3 2 2 40 2 2 4 1
16 2 4 3 3 41 1 1 1 2
17 1 3 4 1 42 2 1 1 1
18 3 3 1 3 43 2 2 1 2
19 2 1 1 1 44 2 4 2 4
20 1 2 3 3 45 1 3 1 2
21 1 4 1 4 46 1 1 2 1
22 3 1 1 1 47 2 1 2 2
23 4 4 3 1 48 4 2 2 3
24 3 1 3 2 49 4 2 2 3
25 3 1 4 4 50 3 3 3 2

dt. 06" Feb.,2014
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76

77

78

79

80

81

82

83

84

85

86

87
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95

96

97
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100

ELa N

D

o C

B

wHiE | 9IA

51

52

53

54
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56

57
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64

65
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68

69

70
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